
-2l-s - 3X0) -3(2X SXO44(2*2 -Ixo) 
-22o)8(10-D) + 4(6+) 

So- 30+ 44 
-36 

Since, lAl # O, he matnx is non-ingular 

Exercise 20) 

Solue the tollouwinq system o equakons 
by usin� Ccamers le 

Soluton 
The gen equatons ane 

Page No.: 
Date 

37-Sy= l4 
22 -9 l0 

2 -3 

=3xc-2) -Q(-s) 

Constant term 

J #0 SO, the solution eviSts. 



D 14 
|0 

14x(-3) - Lo x( 
--42-C-so) 

2 

|4 

=3Xlo -2X4 

lo 

-30 - 28 

D 

Novo, By using �amers Rule, 

D2 
D 

b) t24 - 4 32y=-2 
Goluton 

The given equations CUro 

2t24 = 4 
32-4 =-2 ) 



-2 
4 Conatant tormal 

=2 

Date : 
Page No. 

o the SolutoO exist 

D2 

Douo, By Using crcmers Rule 
= 

-2 -12 

-2 3 

= 4X) -(9) x2 

-2 

= IXC-1) � 3 x 2. 

3 

D 



Soluhor 

he qiven equations are 

7yt2 =-3 

8x-4y-Z =1 

-1 

3-4 

-4-1 

Cot ot Coet otzconstantte 

-4 

Expanding D using Ri 

3 -4 

Date : 

Jxc)- (40x)+1l1xc)-9) t1(Ive) -3x) 
1-1t4) + 1(-l-3) +1(-4-3) 

-8 O, So, thne souton eust. 



Cxpanding D using A 

=-l6 

D2 = 
3 3 

=-3(1x) -() xI) t(Lxe)- X)+ 1(Lxc4) -Lx) 

-J 

1 

) ). 

-l6 

-Ca) 

-2-12 -2 

3 

= J(-1-) +3 (--8) + L-3) 

Page No.: 
Date 

3 1 

=J(1xc) � Lx) +3(1x-)- 3x)+ 1C1x -3x) 

-4 



De = 

J-1-3 

Exp anding Da uslng R 

5-2 

3 -4 

24 

(1x1- (4)x)) +I(-3x 1)-3(Lx (-4)-3x1) 
=1(t) t!-3) -3(-4-3) 

DI 

D2 

3 J 

Now, Bu using camers Role 

D3 

Soloton 

tC3) 

16 = 2 = 

=2, y= 2ez=-3 

743y-22 = 13 

= -3 

2-4 

The given equ akong are 



Coctt.o 

A2-3 

-2 

Expanding D ky uxing R D 

3 

-C-2)2 1 

-2 

-2 -3 

J33-2 

-2 

- 1(1xc) - Ix5) t2 (2xca)- x1) -3 (2x3-lx) 

-1(-2-s) + 2 (-4 -)-3(6H) 

=-3o o. So, he Solution eistk 

2 

Expanding D, bu using Re 

Page No.: 
Date : 

13 3 

3 

- J¢2- 3) t2l-12-13) -3(8-(3) 

13 

= J(3xe) -3) t26xe2)- 134) -3( 6xg -exl) 



2 

Expanding Da ucing R 

13 -2 

D3 =2 

3 13 

-J(GNe2)- 13)-1(2xc2) -l) -3(2x13 - |xe) 

J-12 -13) -IC-4-)-3(26-

-2 

Expanding Da by uing R 

D 

) 

Da 
D 

-2 

No, loy Using Ccners 

|! J3 

-30 

J(Lx13- 3x4)+2(2x|3 - |x6) +12x3- |x) 
- J(13- 18) + 2(26 -6) +1(6-) 

-80 

9 

R 

3 

2 

Date 

J3 

rule, 

-6) 
=-2SS-60 



Soluion 
e) Bx+52 = 142ty-3z =3,tytz=4 

The gien equatons are 

-20 

3x + 65z 14 
27ty-3z - 3 
2tytz=4 

3 
2 

D = 

-8 

-3 

-3 

() 

=3(1 +3)- O + 5(21) 

-3 

Page No.: 
Date 

= |4 #0. So,the solhon exisk 

lCon stant ternd 
14 

3 



DI = 
|4 

4 

2 

56 556-5 

1 

1 

-30 

8-3 

Supanding Da by using Ri 

4 

9 

2(3x1-4x(3))-14(2x|- 1x(3)) +sl2x4 - IX3) 
=33t 12) -14(2 +3) t sl8) 
= 45- to t 2 



D3 = 

Expanding Da by uxing Re 

Nouo, ay using cramers ule, 

D2 

The 
SoloioO. 

1 

yt2=-24y-2z=-9,tz=g 

gien aquationc 
tz = -2 

ty-2z =-9 
2+24 t 2 =9 
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Date : 

are 



6urpuodxg 

6 
6 
6 

T 

-Tr)Tt (XT-TKT) T+ (eIXT-TKT) 

Rirpuvtg 

T 

T T 

6-T 
6 

(6-81-T (81 +6-) Tt (tT)o-= 



Epanding Da by uaiag & 

D¡ = 

g 

=2(9x< - 9x)) +2(x-(xca)) +| Cix9- (x(-9)) 
=2(-t l8)+2C1+2)+1(9+ 9) 

42 

-1 

2= 

2 

Expandigg Da hy psing Ru 
- 9 

DT 

- 9 

9 

= 54 t 18-2 

D2 

= 2(9t 18) + J(9 +9)-2(2) 
= 2(1x9-2xc-9) +1(4r9 � (xc9)) -2(x2 -Ix) 

+ 

D3 

by using cramers ule, 

-94 C-) 

=-2 

42 S 

Date : 
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